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148 & F KREHT H26.9. 6 f5 1.39] 0.50 0.10 60LLE 2 3 <1 <1 - - 3 58| 11,000 33,000 |FE{E: PR, EtEBE
149[;EF 2 KREET | H26.9.6 | &% 1.87] 0.60 0.10 60LLE 4 12 < < - - 7| 39| 6,200 19,000 |EEHIBRE €7 1
150| LHFR 3 KHEET | H26.9.6 | & 1.56| 0.50 0.10 605l 4 22 < 1 < < 4] 63| 22,000 | 67,000 |EXHIERS: EEd 10T
1515~ KAEET H26.9.12 | iREE 11.09 0.70 0.10 60LAE 4 5 1 3 <1 2 6 27| 26,000 79,000 |7 HRI%H X i LA 3:40]
152( iR KREET | H26.9.13 | 7 31.91] 0.50 0.10 60LLE 5 5 3 10 1 4 8| 54 140,000 = 420,000 [J3:BR K EEF 17
153l DR (k) KEEET | H26.9.11| 2 2.90| 0.50 0.10 60LLE 4 7 < < - - 10  47] 8500 26,000 |)FEEERS; EEd 1T
154|BE DR (TF) PN H26.9. 11 £ 2.62| 0.40 0.10 60t 4 6 <1 <1 - - 1 31 1,200 3,500 |sE %Ki HILRBS
155| 5.2 KRERT | H26.9.13 | BE 547/ 060 010 30 12 11 2 5 < 1 8| 37| 21,000 65,000 [JBEERKS; RLERE
156| F A KREET | H26.9.13 | ®& 9.30 0.70 0.10 15 4 45 8 25 2 7 12| 53 73,000 220,000 |#EiEELRES; EEd 107
157| B KB PN i) H26.9.13 i 9.39| 0.70 0.10 25 12 14 2 6 <1 2 10 35 25,000 77,000 |J7s&E HR%H R i HILRBE
158 ;I;Hifﬁ ig‘;m 26.9.12 | % 3.87| 0.30 0.10 5 250 300 2 64 4 2 12| 35| 18,000 55,000 'i%;a;;glzg %E%gﬁ B> REDKERR
159|188 HEET | H26.9.12 | H§ 528 0.70 0.10 2 6 9 < 2 < < 8| 30| 12,000 38,000 [)3EEEK 2B
160| R H# KHERT | H26.9.12 | B& 4.68| 1.10 0.50 14 24 32 2 6 < 2 8| 43| 27,000 82,000 |iFBEHKS; EEA 107
161|372 KHERT | H26.9.12 | B% 2.90| 1.20  0.50 60LLE 9 12 3 9 4 3 12| 53] 71,000 210,000 |)E:EEER S EEd 1005
162 gﬁ;}é%z iﬁgm H26.9.12 | thig 4,84/ 080 0.10 48 9 10 2 5 i 2 12| 54| 45,000 140,000 i%ﬁ%ﬁlzg ;jﬁ%‘;gg
163]/ HEET | H26.9.16 | =2 12.36| 0.50 0.10 59 6 4 2 7 1 5 5| 53| 73,000 220,000 |i@REEEK BB
164|F1L 1 KHEET | H26.9.5 | B 8.72| 0.50 0.10 40 5 8 < 3 < < 4] 67| 42,000 | 130,000 |fRERHRK L RLERE
165|F1li 2 ABEET | H26.9.5 | & 9.70| 0.60 0.10 60LLE 2 3 < 3 a < 4 57 47,000 | 140,000 |}BERE R €3 1015
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| 166|588 =&ith prES) H26. 8. 27 = 1.85 0.50 0.10 49 8 8 <1 <1 - - 5 65 20,000 | 62,000 |J&EESEKEL EEA-T95]
167|338 7=%ith TRZERT H26.9. 11 & 2.34 0.70 0.10 36 9 1 <1 1 <1 <1 9 43 12,000 41,000 |JmiEH% X EEA-T245]
168|FA[RF=&ith WEEHT H26. 8. 22 ﬂ% 5.53| 0.90 0.10 48 9 8 <1 2 <1 <1 3 34 16,000 54,000 (s EREE X RILEER
169| pess K12 WEEHT H26.8.22 | = 3.01] 0.70 0.10 60L4E 2 2 1 3 <1 2 2 50[ 9,200 = 30,000 |imiEEL#XE L 1035
170|EE B R =it TEERT H26. 8. 22 i 2.21  0.30 0.10 10 5 1 <1 2 <1 1 5 43 3,300 10,000 |JmisE RS 5, LA 345]
1T AR HF=0O TEEHT H26.8. 27 3 2.14 0.50 0.10 45 11 12 1 3 <1 1 3 42| 35,000 | 110,000 |JfF:&E %X EEd T3]
172| R E5R = Hith WEEHT H26.9. 11 g 1.28 0.60 0.10 60LLE 4 9 <1 <1 - - 1 47 1,400 4,400 |JeE RS K EEd T:35]
173|835 T f=8ith TZEHT H26.9. 11 1.71] 0.60 0.10 33 10 9 <1 1 <1 <1 8 44 4,700 15,000 |JmiEERSER 1, LA 345]
174 DA T=ith TEEHT H26.9. 11 rE 10.17(  0.30  0.10 60L4E 4 4 <1 3 <1 1 8 66| 100,000 = 310, 000 |jmis FRI%E XK1t X4 T:05]
175| Kgar=oit EEET H26.9.5 s 4.09] 1.65 0.50 34 5 20 1 3 <1 3 5 60[ 26,000 = 76,000 )&% KSE EEd 1:35]
176|REDIRT=&ith WEERT H26.9. 11 & 1.71] 0.70  0.10 60Kt 3 8 <1 <1 - - 12 39 2,200 7,000 |Jmi AR R s, LA 3:45]
177[/KRKER TEEHT H26. 8. 22 A 13.92 1.10  0.50 38 8 5 3 8 2 1 5 66| 52,000 @160, 000 |j7 i FRI%E it EEld T:35]
178|#712 WEEHT H26.9. 11 i 10.20] 0.30 0.10 60AE 2 1 2 6 1 3 6 36 30,000 = 93,000 |ff&EERSHKSE EEd T:35]
179| FigRiR =it TEERT H26.9.13 A 1.1 0.70  0.10 55 6 6 3 8 1 3 12 63| 170,000 | 520, 000 |} FRI%E X izt LA 3:45]
180|ERPIR=ith TEERT H26.9.14 | & 5.68 0.90 0.10 60LLE 2 2 <1 1 <1 <1 6 63| 66,000 @ 200, 000 |73 FRI%E X1zt EEd T:95]
181|ERLR=M WEEHT H26.9.14 il 3.30] 0.90 0.10 60LAE 1 1 <1 <1 - - 1 45 15,000 47,000 (s EREEXKig EEd T:95]
182| \EFf=8ith TEERT H26. 8. 26 551 8.61| 0.40 0.10 60LE 5 4 2 5 1 3 5 46| 63,000 | 190,000 |JfF:%EER%HRX i LA 3:45]

| 183|RAF =it TEEHT H26.9.9 i 1.68) 0.30 0.10 11 31 29 <1 2 <1 <1 1 43 1,400 24,000 |jmiEEREE X EEd T:95]
184[8E F & f=sHith WEEHT H26.9.9 & 1.44] 0.40 0.10 58 4 6 <1 1 <1 <1 6 63 2,400 7,600 | RIS R i EEd T3]
185|E L D7 TZERT H26.9.9 A 5.37| 0.45 0.10 13 30 45 2 8 <1 <1 8 49( 24,000 82,000 |2 R # X ik LA 3:40]
186| )1l [R3A7F=th WEEHT H26.9.9 rE 1.45] 0.81 0.10 60Kt 6 1 <1 <1 - - 1 43 2, 600 8,300 |JmiZ RIS EEd T3]
187|ILEHB =t WEEHT H26.9.9 & 1.75| 0.53  0.10 51 9 8 <1 <1 - - 5 38 6,100 19,000 |7 FR%E K i EEd T3]
188|EEEBB=0ith TEEET H26.8.26 | 2.12| 0.40 0.10 35 1 10 <1 1 <1 1 3 43| 5200 16,000 |imiEER% X, EEd T:35]
189|EfR=sHith WEEHT H26.9.9 i 2.84| 0.15 0.10 35 7 12 <1 2 <1 5 39 4,600 14,000 |72 RS El4 1:35]
190(% / BiREE 1 1= ith| WEEHT H26.9. 11 & 5.09] 0.40 0.10 50 6 6 <1 2 <1 <1 3 33 8, 500 26,000 |fFiEEREEXig el 135]
191|#88& = oith WEEHT H26.9. 11 = 10.29] 0.80 0.10 60LAE 4 1 3 9 1 3 6 62 72,000 | 220,000 &R K HILRBE
192|% &2 Ef-hith TEEHT H26.9. 11 3 10.74f 0.60 0.10 60L4E 6 1 2 6 <1 1 8 53| 77,000 | 230,000 |jmis %KLL EEd T3]

| 193|B5RIASE 1 7=ehith  [INIEHT H26.9.9 Z 1.09] 0.28 0.10 33 8 1 <1 <1 - - 8 57 1,500 4,800 |JmE %R EEd T:95]
1943k 2B 1= ith TEERT H26.9. 23 i 7.58] 0.37 0.10 30 14 12 1 3 <1 2 6 41| 23,000 = 81,000 |imiEER%H K1, RiEEERE
195| &5 3E=0ith TEERT H26.9.9 i 4571 0.68 0.10 60LlE 2 1 <1 2 <1 1 8 55 9, 800 33,000 |2 R $ X 35k LA 3:45]
196|<% 2R f=hith BEEHT H26.9. 23 & 0.68] 0.28 0.10 18 15 14 <1 <1 - - 10 60 1,800 5,700 |Jmi= FRI%E R g Bl 1295
197 BOE=SHH TEERT H26.9.9 i 1.37 0.25 0.10 32 1 6 <1 <1 - - 5 22 120 390 |JmiE RS X1 LtEBRE
198| KL f=hith pyE H26.9. 23 i1 0.54] 0.15 0.10 22 16 31 <A <1 - - 5 30 30 120 | )& FR%E X i tEBE
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199[4LiREE 1 JRITHT H26.9.12 | iREF 0.31 0.40 0.10 57 6 10 <1 <1 - - 7 59 2,000 6,300 |BgtierARREREE |RILERKE
200[4LiREE 2 SETHET H26.9.12 | rEE 0.26 - - - - - - - - - 5 52 3,100 9,800 |BgtieTAEMREMRRESE |HIRKE [AERKHIE RKFRT
201|177 SRITET H26.9.12 | iREE 0.28( 0.30 0.10 7 74 76 <1 <1 - - 5 27 240 810 [Bgin RMMRERRSE |[RILRKE

| 202| % 7 7% JRITHET H26.9.12 & 0.25| 0.40 0.10 13 25 36 <1 <1 - - 8 52 520 1,600 |BgtisRARREMRRE [RILEHRD
203|ERIR SEGTHET H26.9. 15 & 0.24 0.50 0.10 60 L 1 1 <1 <1 4 38 1,100 3,800 (BgtisTAEREMRESE |HIRKE
204(fa AR5 SEGTHET H26.9.16 | 1REE 0.37( 0.30 0.10 55 5 7 <1 <1 - - 8 37 360 1,100 |BginmmRERRE |RILERKD
205| KEHM%E 2 JRITHET H26.9. 15 £ 0.34| 0.50 0.10 42 6 9 <1 <1 - - 8 44 1, 600 5,100 |BgtismMRBRERESE |RILRKE
206| KEME 1 SEITHET H26.9. 15 = 0.34| 0.50 0.10 60 L 4 5 <1 <1 - - 9 42 1,000 3,500 (BgtiemAERERRESE |RILRKRE
207|dt A ik SEGTHET H26.9. 23 i 3.23 0.60 0.10 60LLE 2 5 <1 1 <1 <1 7 68| 24,000 81,000 |E{EHIRXE HIEKB
208|BRIRE 1 JRITHET H26. 8. 22 iE 2.46 1.25 0.50 15 25 27 <1 <1 - - 6 58 14,000 44,000 |FE{EFIRXE RILEHE
209[/\EBRE 2 SETHET H26.9. 23 fF 2.02 0.40 0.10 28 18 35 <1 2 <1 <1 4 58 6, 900 21,000 |)7i=EE £ X i RILEBE
210|/\ZERNE 1 SEGTHET H26.9. 23 & 3.15 0.90 0.10 20 16 22 <1 <1 - - 5 27 960 3,000 [IFEREHXE HIEKB
211|142 JRITHET H26.9.3 £ 2.03 0.80 0.10 20 6 21 <1 <1 - - 6 45 29,000 96, 000 |E{EHIMR X1 RILEHE
212|132 k% 2 SEGTHET H26.9. 23 f& 3.39 0. 60 0.10 60 E 3 5 <1 <1 - - 10 49( 19,000 59, 000 |7 i= bR £ X i RILEBE
213|iRE%E 2 SEGTHET H26.9. 24 & 4.70 0.60 0.10 60U E 6 6 <1 1 <1 <1 7 49| 11,000 33,000 |)@:EFREXE HIEKB
214;REE 1 SRITHT H26.9. 24 = 3.69 0.60 0.10 43 10 12 <1 2 <1 <1 6 48| 14,000 42,000 |i@iEERE X HILEKE
215|312 L5 1 SEGTHET H26.9. 23 f 3.60 0.30 0.10 29 35 64 4 10 <1 <1 4 62( 19,000 56, 000 |71 BE £ X i RILEBE

| 216|LLIEA SEGTHET H26. 8. 29 55 2.42 0.40 0.10 50 8 15 <1 1 <1 <1 5 29 5, 800 18, 000 i PR £ X 12 HIEKBS
217|E8/ & SRITET H26. 8. 28 = 3.01 0.40 0.10 36 28 39 <1 1 <1 <1 3 51 8, 600 27,000 |FE{EHIRRE X HIEKE
218|&IN% SEGTHET H26.9. 23 & 3.10 0. 60 0.10 60 L 3 4 <1 <1 - - 6 59 21,000 69, 000 |FE1F IR X RILEBE
219|/MFDE SEGTHET H26.9. 23 & 0.34 0.20 0.10 60U E 3 4 <1 <1 - - 5 58 2,300 7,100 [Bgis RARRERESE |[RILE2KE
220|FY o SRITET H26.9. 23 & 0.54 0.15 0.10 22 5 9 <1 <1 - - 5 76 5, 400 17,000 [BgisRMRRERRSE |RILRERE
221|4tv% JRITHET H26.9. 23 & 0.74| 0.30 0.10 56 4 5 <1 <1 - - 7 67 1, 600 4,700 |@giERMBREMRSE |RILEKRB
222|/NE i SEGTHET H26.9. 23 & 0.51 0.45 0.10 30 5 5 <1 <1 - - 10 49 1,900 6,500 |BgtisRAERERESE |[RILEKRE
223[ )11 SRITET H26. 8. 26 55 3.78| 0.40 0.10 60LLtE 1 2 <1 <1 - - 6 63| 35,000 @ 120,000 |FE{¥HIRR X% LEBRE
24| L/ R JRITHET H26.9. 22 & 2.99 - - - - - - - - - 6 49 23,000 78,000 |E{E IR X LEHE |[AERKLIE RKITT
225|28R SEGTHET H26.9. 23 & 1.46 0.40 0.10 60 E 5 19 <1 <1 - - 7 36 1, 700 5,300 |E1EHIPRXE HIEKB
226|8RFEE 1 SRITHET H26.9. 14 & 16. 50 0.40 0.10 600 E 4 4 <1 1 <1 <1 12 54| 14,000 42,000 |i@EEE X HLEKE
227| L @77 JRITHET H26.9.14 | iREE 12.49| 0.90 0.10 45 7 7 2 5 <1 2 7 21 15,000 48,000 |/F:ERH XS RILEHE

1 228|% / iR 1 SEGTHET H26.9. 24 = 6.74 0.60 0.10 600 E 11 13 <1 2 <1 <1 8 40[ 26,000 80, 000 |35 PN #ff X ig HILEBE
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229[#:8 = [EET H26.9.5 [ 5.86| 0.40 0.10 18 120 160 5 14 <1 <1 10 27| 11,000 34,000 |fFEEREEXIE RILRBE
230 ;Ié?ﬁ[&; 1 WEET | H26.8.20 | 8 1.97 400 0.50 60BLE 6 2 4 2 4l i 4] 69 34,000 100,000 Eg:}gﬁlzg %E%gg
231|525 1 SEET | H26.9.22 | B 1.77] 005 010 28 27 150 2 5 < < 1| 2 890 | 2,800 S BB
22|1BRE 2 = 8T H26. 9. 22 £ 0.76] 0.23 0.10 60LlL 2 4 <1 <1 - - 5 28 8, 600 27,000 |## gt iERARBREMR S | RILRBUD
233 'E“T('ﬁ‘ﬁ = [ AT H26.9. 22 % 1.41] 0.60 0.10 60LLE 7 8 <1 <1 10 58 9,100 28, 000 iﬁ}ﬁ;ﬁf;@ﬂﬁ%ﬁzﬁ ;jﬁ%g%
234|357 SEET | H26.9.22 | 2.22| 050 0.10 601LE 1 2 A < - - 5| 37| 3100 9,300 [EEHIBR BHB
235|78R = 8T H26. 9. 22 i 1.34] 0.60 0.10 60LLE 6 5 <1 <1 - - 1 39 5,100 16,000 |BisfiemARBRAE R [RAL RS
236|§iRE SMET | H26.09 | 111 03 010 13 8 8 4l a4 - - 8| 47| 8400 25,000 |siinmaRiiEisRst| H RS
237 gﬂa WEET | H26.8.29 | K 119 1.20 0.50 60BiE 6 7 < 1 A 1 6| 67| 12,000 36000 ﬁﬁg‘ﬁaﬂzrﬁﬁﬁzﬁ ;dt%g%
238 = & BT H26. 9. 22 f5 1.42] 0.80 0.10 60Kt 4 3 <1 <1 - - 8 62 9, 300 29,000 |F7E3 PR X 1, LtEBB
239|# A = [ BT H26.9.8 = 0.56| 0.15 0.10 28 8 17 <1 <1 - - 5 51 2,900 8,700 |BEfiRRARRRAE RS [RALRBUS
2atls SEm | Mooo | m | ool om oloaME o o a3 40 ioom [mammme o [RiARR

EEET . B 3.02| o ) Ll 6 9 - - a 4, , IR BB
22| %2 SMEET | H26.0.9 | 393 0.60 010 60LE 10 10 4 i 4 < 6| 42| 5800 18.000 |EEHIERS RALRBR
243|EER SEET | H6.04 | 2 2.93| 0.50 0.10 60ILE 5 7 < 2 < i of 54| 19,000 58 000 |#EERLRKS; RALEBR
244|Bpk SEET [ H26.9.22 | BE 0.32| 0.30 010 45 5 5 < < - - 8| 60| 11,000 32,000 |EEHIERS RALEBR
245 ngﬁs SMmE [ H26.9.22 | E 154 0.34  0.10 60BLE 4 5 4 < - - 8| 57| 8700  26.000 ﬁﬁff;@ﬂﬁ%ﬂﬁzm %E%KE
246\ @ SEET | H26.04 | = 211 040 010 38 6 13 4 2 a < 6| 42| 10,000 31,000 |EEHIBR BHB
VZYIE#: = [E T H26.9.3 = 1.84] 1.90 0.50 60LLE 2 4 <1 <1 - - 3 54 5,900 18,000 |/E4EHIFR X5 HILRBE
248|448 2 SMEET [ H26.821 | B 2.84] 120 0.50 601LE 7 13 4 3 4 2 4| 51| 29,000 88,000 |R{EHIERS HLERE
249|553 ZMEET | H26.0.5 | & 428 050 010 20 6 8 a 2 a i 6| 36| 23000 71000 |ipmmR: RALEBR
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| 250| K= 1E BREEAT H26.8.8 ) 1.87] 2.30 0.50 41 5 5 <1 <1 - - 4 67| 27,000 80, 000 |/ 1% il BR X 15k RILRBE
251[3@/ A fREEAT | H26.8.6 | & 1.75| 3.65 0.50 6OBLE a 2 < <1 - - 4 56 5,300 15,000 |E4EHIMR K EEd Vi)
252| E48 BREEAT | H26.9.13 | = 1.65| 0.60 0.10 60LLE 5 8 < 1 < < 7 36| 4100 13,000 |EE#IERSE HLEKRB
253|mMiR 1 BREEAT H26.9.12 £ 1.87] 0.50 0.10 60k 3 3 <1 <1 - - 5 48 8,000 24,000 | /&1 iR X g RILRBE
254 EDIRE 1 fREEAT | H26.9.18 | B 1,99 0.50 0.10 60LLE 4 2 < <1 - - 7 55| 18,000 55,000 |E4E IR K EEd Vi)
255| ALLIE fREEAT | H26.8.5 | BE 1.81] 1.25 0.50 60LLE 1 5 < <1 - - 7 55 10,000 30,000 |E %I EEd V0]
| 256(ILIEH BREEF H26.8. 1 B 1.75 1.10 0.50 60xAE 1 4 <1 <1 - - 6 57 12,000 36, 000 |/ 1% il PR X 15 RILRBE
257|%iR fREEAT | H26.7.31 | 1.96] 0.70 0.10 57 1 7 < <1 - - 6 69| 10,000 30,000 |E4E IR K EEd Vi)
258| & 4% fREERT | H26.9.17 | 1.85 0.50 0.10 60LLE < <1 < <1 - - 7 62| 17000 52,000 |mbsiswarieims|mi 2B
259[HEK BREEFT H26.9.17 £ 1.12] 0.30 0.10 55 8 12 <1 <1 - - 5 45 4,700 14,000 [EB{EHIFRRE RILRBE
260|E & fReEA | H26.8.21 | 2 1.90| 0.50 0.10 60LAE 3 2 < <1 - - 2 33| 1,000  3.200 |EEEHIRER HLEER
261 (A7 A 4R fREEAT | H26.8.21 | & 224 1.30  0.50 20 24 25 < 2 < < 5 37| 1,400 4.300 |EEEHIRESE EEd V0]
262| = ViE IREEAT H26. 8. 21 £ 2.83] 0.90 0.10 604 L 1 1 <1 <1 - - 4 55 2,500 7,400 [EB{EHIPRRE RILRBE
263| %% tReEA | H26.8.21 | 2 1.21] 0.60 0.10 10 48 42 < <1 - - 2 31| 1,600 4900 |EEEHIERE HEKRB
264 KK 1 fREEAT | H26.8.5 | W& 2.10] 1.50 0.50 60LIE A 2 < < - - 10 56| 5,000 15,000 |EEEHIERE EEd Vo)
265\ K K% 2 BREEAT | H26.9.14 | & 2.21] 0.50 0.10 60LlE 2 6 < < - - 5 46| 2,200 6,800 |EEHIBRSE £ Y00
266|% / A fREEA | H26.9.13 | 1.19] 0.60 0.10 60LIE 2 3 < <1 - - 7 35| 3,700 11,000 |EEE4IRES: HLEER
267(hiE fREEA | H26.9.12 | 1.64 0.70 0.10 40 5 10 < <1 - - 6 4 500 | 1,600 |EfEHIRRE EEd Vo)
268| k15 BR3EFT | H26.8.5 | & 0.51| 1.20 0.50 40 8 13 < < - - 10 66| 1,000 3,300 |@sismamams| st 2
269|R%E fREEA | H26.8.6 | B 1.07] 1.90 0.50 37 7 8 < <1 - - 7 65| 11,000 31,000 |mediswaRaimms: | mLR2RD
| 270| EBA tREEA | H26.9.11| 1.92| 0.80 0.10 60LiE 3 3 < <1 - - 7 62| 7,000 21,000 |EEEHIERE EEd V4o
271 | & BR3EAT | H26.8.6 | & 1.10] 2.80  0.50 60LIE 4 3 < < - - 10 62| 6,500 19,000 |Er#IfE Rk HLEKR
272| Kk IREEAT H26.9.17 £ 1.60/ 0.10 0.10 56 8 16 <1 1 <1 <1 8 43 3,100 9,300 (BgtisRMRRERESE |RILRKE
273|;F fREEA | H26.8.21 | & 50| 0.40  0.10 60BLE 4 4 < <1 - - 5 29| 1,900 5,800 |EEHIERIE 213 T4z
274[ILBR BRAEAT | H26.8.20 | & 78] 0.60 0.10 54 6 8 < < - - 3 53] 10,000 30,000 |EEEHIRERIE LEER
275(5F AREEH H26.9.17 ) .47 0.50 0.10 60xAE 1 1 <1 <1 - - 8 23 420 1,300 |/ il PR X g RILEHE
276\ 3Y tREER | H26.9.17| 2 0.99| 0.60 0.10 60BIE 2 2 < <1 - - 5 33 510 | 1,500 |EfEHIRRE EEd Vi)
277|Bx Il BREEAT | H26.9.13 | & 124 0.50 0.10 60LlE 5 8 < < - - 10 37| 1,500 4,500 |EEHIERE EEd V0o)
2718|%) BREEFT H26.9.13 B 1.27] 0.50 0.10 60Lit 3 3 <1 <1 - - 7 80[ 12,000 35,000 |/E ¥ HilBR X g EEA- 1240
279| x4t fREEA | H26.8.7 | 1.87] 0.70  0.10 60LIE < 3 < <1 - - 5 61) 12,000 37.000 |FEE%IR RS HLEER
280| X IR BREEAT | H26.9.13 | = 2.24| 0.60 0.10 60LIE 2 2 < <1 - - 7 50| 8,200 25,000 |EEHIERIE LEER
281[3LBHIR REE A H26.9.13 B 2.39 - - - - - - - - - 6 40 2,700 8,300 [E{EHIRRE LEBE |REFKHE ARKTA
282| 4R fREEAT | H26.9.13 | 2 1.51] 0.50 0.10 60BIE 2 4 < < - - 7 52 14,000 41,000 |EEEHIERE LERB
283|812 fREERT | H26.9.12 | # 2.47] 0.50  0.10 60LIE 3 4 < < - - 4 41| 8,100 25,000 |EEEHIRERIE €A Y00
284| Bt RERH H26.9.12 i 1.77 1.50 0.50 40 5 12 <1 <1 - - 3 Al 5,700 17,000 [BE{EHIFRRE RILERBE
285(M/ A fREEA | H26.9.12 | B 2.15| 0.50 0.10 45 5 9 1 3 < < 2 23| 3,300 10,000 |EEEHIERE HLEER
286 DRE 2 fREERT | H26.9.18 | & 1.66] 0.30 0.10 60LE 2 3 < < - - 7 38| 1,300 4,100 |EEEHIERE £ 0]
| 287|#EDRE 3 BREEAT H26. 8. 20 B 1.75| 0.50 0.10 39 5 4 <1 1 <1 <1 6 54 7,800 23,000 | /&1 il PR X 15 RILRBE
288|FFHR fREEA | H26.8.20 | 1.71] 0.50 0.10 60BIE 5 4 < < - - 4 30| 2,400 7,400 |EEEHIFERIHE HLEER
289|/MUE A fREEAT | H26.8.19 | & 1.73] 1.30  0.50 45 7 27 < 2 < < 7 80| 15,000 42,000 |E IR EEd V0]
| 290|768 = & SREEAT H26.9. 11 [55] 1.90, 0.50 0.10 60Lit 2 3 <1 <1 - - 2 69| 15,000 45,000 |/ 1 il PR X 15 L EA- 1245
201|FEA2 fREEA | H26.9.11 | m 1.67] 0.50 0.10 60LLE 1 1 < <1 - - 8 65 3.900  12.000 |EfEHIRRESE HLEER
202| REEI fREEA | H26.9.11 | 2 2.17] 0.50  0.10 60LlE 1 1 < < - - 4 69 8,300 24,000 |EEEHIERE EEd Vo)
293|I5FEEE2 RERH H26.9. 11 £ 2.06] 0.50 0.10 604t 2 3 <1 <1 - - 4 59 8,000 24,000 |/E 1 iR X g RILRBE
204|[RFEE3 tREEA | H26.9.11| 2 1.49] 0.50 0.10 60LLE 1 1 < <1 - - 4 47| 11,000 33,000 |FEfEHIME KL HhERB
205 EEE] fREEAT | H26.8.8 | & 1.65 3.30  0.50 60LLE 2 4 < <1 - - 10 69] 14,000 41,000 |EEEHIERE EEd V0]
206| B EE2 BREEAT | H26.9.11 | = 143 0.50 0.10 4 6 11 < < - - 8 79| 9,600 29,000 |E{EHIEXSE £ Y00
207| 5 1R fREEA | H26.9.12 | B 2.13] 0.50 0.10 3 92 97 < <1 - - 10 4| 1,700 5,000 |EAEHIRER HLEER
208|# T fREEA | H26.9.18 | & 0.61| 0.40 0.10 39 9 7 < <1 - - 4 54| 20,000 61,000 |EEEHIERE EEd Vo)
209 &A% BREAT | H26.8.21 | & 1.70 0.40  0.10 60BLE 4 4 < < - - 5 32| 6,700 20,000 |EEEHIERE EEd 100
300 EiE fREEA | H26.8.21 | 2 4.71] 0.60 0.10 56 5 14 < <1 - - 4 34| 11,000 33,000 |jmEEXE HhERB
301| K15 fREEA | H26.8.21 | & 2.73| 0.50  0.10 608t 1 1 < <1 - - 6 62| 11,000 32,000 |EEEHIERE EEd Vo)
302|187/ BREEFT | H26.9.18 | & 1,94 0.30 0.10 60LLE 1 4 < < - - 10 54 760 | 2,300 |EAEHIERE EEd V0]
303 B REEH H26.9.12 B 1.87] 0.50 0.10 60Lit 10 33 <1 1 <1 <1 7 49 1,500 4,400 |FE{EFIRXSE RILRBE
| 304|fhiags 2 tREEAT | H26.8.20 | S 2.15| 0.40  0.10 60LIE 4 5 < <1 - - 4 45| 5,500 17,000 |EEEHIRERE HLEEB
305| /A= 1 BR3EFT | H26.9.14 | & 0.42[ 0.50 0.10 60LIE 7 7 < < - - 4 29 320 | 1,100 |@EERmmERRE | HLEHE
306|HR BREEH H26.9.12 B 1.08/ 0.50 0.10 230 110 <1 1 <1 <1 4 36 630 2,000 [E{EHIPRRE RILEHE
307|BF fReER | H26.7.31| 3.08] 11.10  0.50 60LiE 1 1 < <1 - - 5 73] 59,000 | 170,000 |E4E MR K EEd Vo)




